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Time allowed for this paper

Reading time before commencing work:
ten minutes

Working time for paper:
three hours 

Materials required/recommended for this paper

To be provided by the supervisor

This Question/Answer Booklet

Multiple-Choice Answer Sheet

Production Booklet for Section Four

To be provided by the candidate

Standard items:
pens, pencils, eraser, correction fluid, ruler, highlighter

Special items:
nil

Important note to candidates

No other items may be taken into the examination room.  It is your responsibility to ensure that you do not have any unauthorised notes or other items of a non‑personal nature in the examination room.  If you have any unauthorised material with you, hand it to the supervisor before reading any further.

Structure of this paper

	Section
	Number of questions available
	Number of questions to be attempted
	Suggested working time (minutes)
	Marks 

available

	Section One

Multiple-Choice
	20
	20
	20
	20

	Section Two

Short Answer
	6
	6
	35
	30

	Section Three

Extended Answer
	2
	2
	50
	50

	Section Four

Production
	1
	1
	75
	100

	Total marks
	200


Instructions to candidates

1.
The rules for the conduct of Western Australian external examinations are detailed in the TEE/WACE Handbook.  Sitting this examination implies that you agree to abide by these rules.

2.
Section One:  Answer all questions on the separate Multiple-Choice Answer Sheet.  Use a blue or black pen or a B or 2B pencil.
3.
Section Two and Section Three:  Answer all questions in the spaces provided in this Question/Answer Booklet.  Use a blue or black pen or a B or 2B pencil.
4.
Section Four:  Answer all questions of this section in the separate Production Booklet.

5.
Spare pages are provided in the back of this Question/Answer Booklet. 
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Section One:  Multiple-Choice 
20 Marks

Attempt all questions in this section. Each question is worth one mark.

Record an answer for questions 1–20 on the separate Multiple-Choice Answer Sheet using a blue or black pen or a B or 2B pencil.

If you make an error, follow the instruction given to you on the Multiple-Choice Answer Sheet.

Suggested working time for this section is 20 minutes.

1.
What should the first step be in creating a successful website? 

(a)
Draw thumbnails as a design solution.

(b)
Choose an appropriate colour palette.

(c)
Write the content for the web site pages.

(d)
Define the purpose of the site.

2.
Which one of the following best describes ‘outsourcing’?
(a)
Paper copies of documents.
(b)
When one company provides ICT services for another.
(c)
When a company purchases equipment over the Internet.
(d)
Sourcing information from the WWW.
3.
What is taken into consideration when creating an inclusive product?

(a)
Culture, values and disability

(b)
Culture and values

(c)
Values and disability

(d)
Disability

4.
Which one of the following statements about copyright is incorrect?
(a)
Copyright protection is free and applies automatically when material is created.

(b)
Copyright provides legal protection of names, titles or slogans.

(c)
There is no registration system for copyright in Australia. 

(d)
Copyright owners can put the copyright © notice on their work themselves, as there is no formal procedure.

5.
Which one of the following recommendations would be the most effective to reduce eye fatigue when using computers?

(a)
Regular breaks and eye exercises, ergonomic workstation design, limit monitor glare and reflection, 19” LCD monitor.

(b)
Regular breaks and eye exercises, ergonomic workstation design, limit monitor glare and reflection, 19” CRT monitor.

(c)
Regular breaks and eye exercises, ergonomic workstation design, fluorescent lighting, 19” monitor.

(d)
Two minutes break every 30 minutes, ergonomic workstation design, natural lighting, and plasma screen.

6.
What is the function of a Title Tag in a web page?

(a)
To clearly label the page for the web designer.

(b)
To identify the version of html used on the page.

(c)
To identify the page to search engines.

(d)
To inform visitors of a domain name.

7.
Which of the following five design principles should work together?
(a)
Balance, typography, shape, unity, dominance.

(b)
Unity, balance, proportion, shape, harmony.

(c)
Alignment, repetition, hierarchy, balance, contrast

(d)
Balance, unity, harmony, dominance, proportion.

8.
Balance can provide structure and stability to designs. Which one of the following statements is not true about the effect balance has on a design.

(a)
Symmetrical balance has a traditional, harmonious feel. It appears structured and conformist.

(b)
Asymmetrical balance arranges objects of a similar visual weight in order to create a sense of balance.

(c)
Symmetrical balance is based on a centre line where the visual weight of elements on both sides is even.

(d)
Asymmetrical balance occurs when the visual weight is not evenly distributed across the page.

9.
A photographer has been asked to supply a colour photograph in digital format to a graphic artist for inclusion in a magazine layout. In this instance, which format should not be used? 

(a)
PNG

(b)
bmp (pict)

(c)
gif (gif)

(d)
tiff (tif)

10.
The image at the right best demonstrates the 
[image: image2.jpg]basic design principle of

(a)
use of white space.
(b)
unity.
(c)
rhythm.
(d)
proportion.
11.
Designers need to be aware of the effect that is created by colour.  Which one of the following statements about colour is not true?

(a)
Complementary colours exhibit more contrast when positioned adjacent to one other. 

(b)
Complementary colours do not sit opposite one another on the colour wheel.

(c)
Warm colours are associated with fire, sun and the land; cool colours are associated with ice and snow.
(d)
Warm colours advance, cool colours recede.

12.
If design principles are the visual theory of design and design elements are the basic building blocks of an image, identify which of the following combinations are design elements only.

(a)
Colour, shape, space, typography, texture.

(b)
Colour, texture, space, balance, form.

(c)
Colour, proportion, texture, unity, space.

(d)
Colour, typography, texture, space, harmony.
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13.
The image at the right best demonstrates 

a principle of design. This is the principle 

of

(a)
symmetry.
(b)
repetition.
(c)
dominance.
(d)
rhythm.

14.
Consider a company that wishes to store selected information about its many thousands of customers.  What is the best way to store this information?

(a)
In a text file.

(b)
In a word processing document.

(c)
In a database.

(d)
In a spreadsheet.

15.
Which one of the following is useful for stopping phishing attacks?

(a)
Spyware detection software.

(b)
Anti-virus software.

(c)
A firewall.

(d)
None of the above.

16.
A Boolean-based search cannot
(a)
give a faster result, but it will approximate its results for a search query.

(b)
be used to find more appropriate matches for a search.

(c)
be used to combine the results of separate search queries into one search query.

(d)
be used to filter the results of a search query.

17.
Which part of a computer holds data instructions permanently?

(a)
The central processing unit.

(b)
The primary cache.

(c)
Read-only memory chip. 

(d)
None of the above.

18.
Which one of the following does not have the ability to efficiently direct network traffic?
(a)
A switch.

(b)
A router.

(c)
A wireless access point.

(d)
A modem.

19.
Which one of the following will allow the highest transfer rate for carrying data?
(a)
Coaxial cable.

(b)
Fibre optic cable.

(c)
Ethernet cable.

(d)
Wireless networking using the IEEE 802.11b standard.

20.
Which one of the following is a reason for choosing one operating system over another?
(a)
The relative cost.

(b)
The ease of use of the operating system.

(c)
Available applications supported by the operating system.

(d)
All of the above.

End of Section One
Section Two:  Short Answer
30 Marks
There are six questions in this section.  Attempt all questions. 

Write your answers in the spaces provided.

Suggested working time for this section is 35 minutes. 

Question 1
(6 marks)
The following excerpt is about a mobile worker.
‘…mobile technology and telecommunications has the potential to significantly expand our choices about where, how and when we work.  Many workers are now in a position to alter their routine to produce benefits for both the business and the employee.’

(a)
State three benefits of mobile work.
(3 marks)
(b)
Define ‘convergence’ and give two examples of converged telecommunication technologies that would assist a mobile worker.
(3 marks)

Definition: 


Example 1:  


Example 2:  


Question 2
(4 marks)
Give two advantages and two disadvantages for a company that may encourage their workers to become mobile workers.


Advantages

1.  


2.  


Disadvantages

1.  


2.  

Question 3
(5 marks)
For each of the following businesses, list the main software application most applicable to that business.

(a)
A secretarial firm.
(1 mark)

(b)
A web-development company.
(1 mark)

(c)
An accountancy firm.
(1 mark)

(d)
A supermarket.
(1 mark)

(e)
A motivational speaker.
(1 mark)

Question 4
(5 marks)

The Charles hospital is a modern hospital.  Nurses use portable digital assistants (PDA’s) to store small-amounts of patient data instead of recording the information on paper.  The PDA’s regularly transmit saved patient data wirelessly to a central server.

(a)
The hospital is considering two alternatives for the wireless data transmission: a Bluetooth-based solution and a Wireless Local Area Network (WLAN) using the IEEE 802.11b standard.  As an Information Technology consultant to the hospital you have been asked for a recommendation.  Which wireless transmission technology would you recommend?  Justify your answer by giving three valid reasons.


(3 marks)

Wireless technology recommended:
Justification 1:

Justification 2:

Justification 3:

(b)
The hospital administration is worried about the confidentiality of patient data being intercepted during transmission.  State one appropriate course of action to avoid this situation occurring.


(1 mark)

(c)
As the patient data is critically important, how should the hospital ensure no data is lost on the central server?


(1 mark)
Question 5
(5 marks)

(a)
What is identity theft?
(1 mark)

(b)
Other than identity theft, list two common reasons why hackers infiltrate people’s computers.
(2 marks)

(c)
Some modern websites require users to enter sensitive data (e.g. personal identification number [PIN]) using graphical-based virtual keyboards.  The user enters data by clicking on the virtual keys, instead of typing in directly using the keyboard.  An example is shown below.
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Briefly explain how this scheme provides additional security against identity theft. 
(1 mark)

(d)
Briefly explain how using a randomised arrangement of the virtual keys provides additional security against identity theft 
(1 mark)

Question 6
(5 marks)
The following excerpt is taken from an article concerning the history of a ‘paperless office’.

“The paperless office was a publicist's slogan, meant to describe the office of the future.  The basic idea was that office automation would make paper redundant for routine tasks such as record-keeping and bookkeeping.  The idea became popular with the introduction of the personal computer.  While the prediction of a PC on every desk was remarkable, the 'paperless office' is still to arrive. Improvements in printers and photocopiers have made it much easier to produce documents in bulk, word-processing has deskilled secretarial work involved in writing those documents, and paper is used more frequently.”

[Wikipedia]

(a)
There are issues faced by individuals and organisations in transforming and keeping documents in a digital format.  Give two examples and justify the issues facing organisations and/or individuals.


(2 marks)

(b)
List three ways in which a website developer can encourage a reduction of paper usage in an office environment. 


(3 marks)

1.  


2.  


3.  


End of Section Two
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Section Three:  Extended Answer
50 Marks

There are two questions in this section.  Attempt both questions.

Write your answers in the spaces provided. 

Suggested working time for this section is 50 minutes. 

Question 1
(20 marks)

Imagine you are a school librarian.  Your principal has asked you to produce a detailed practical guide for students that gives information about copyright laws and how they apply in your school.  This student user’s guide will be printed and all students given a copy so they are aware of copyright laws and do not unintentionally breach copyright.

(a)
Write an introductory statement for the student user’s guide which: 

· defines copyright and 
· lists three key points about copyright protection in Australia.


(4 marks)

(b)
Describe three categories or forms of material that copyright protects and give an example for each.



(6 marks)

(i)
Category:  



Example:  


(ii)
Category:  



Example:  


(iii)
Category:  



Example:  


(c)
There are a number of situations in which people can use copyright material without permission.  For the student user’s guide, clearly describe two of these exemptions.


(2 marks)

(d)
A student has approached you and asked you for advice on copyright.  He is attending his sister’s wedding and has offered to film the service and the reception.  He will then create a video by using video editing software.  As part of the editing process, he intends to dub in a number of songs over the video.  What advice would you give to the student to ensure that he does not breach copyright when he creates and distributes this video production to the wedding party?

(8 marks)
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Question 2
(30 marks)

Jane is starting a new 3D graphic design company that will employ approximately 10 graphic artists and is situated in an old house.  Jane has obtained two approximately equivalent-priced quotations for supplying computers for her company.  These are detailed below.  You should assume both quotations contain all other necessary peripherals and that there are no significant differences between the two quotations on any non-listed item.
	Category
	Quotation A
	Quotation B

	1. Processor
	2.1GHz quad-core processor
	2.4GHz dual-core processor

	2. Memory
	2GB SDRAM memory
	4GB SDRAM memory

	3. Monitor
	24" widescreen monitor
	20" widescreen monitor

	4. Disk-drive
	250GB hard drive
	750GB hard drive

	5. Graphics card
	256MB NVidia(R) graphics card
	Integrated graphics card

	6. Anti-virus software
	Freeware anti-virus software
	1 year free trial of a subscription-based anti-virus software

	7. Office software
	Open Office 2008  
	Microsoft(R) Office 2007 Professional


(a)
Identify which quotation Jane should choose.  Justify your answer by contrasting the two quotations for each of the 7 categories listed above in terms of the applicability for use in graphic design work. 


(7 marks)

	Circle your choice:   
	Quotation A
	Quotation B


Justification for category 1 (Processor):

Justification for category 2 (Memory):

Justification for category 3 (Monitor):

Justification for category 4 (Disk-drive):

Justification for category 5 (Graphics card):

Justification for category 6 (Anti-virus software):

Justification for category 7 (Office software):

(b)
Jane realises she needs her employees to share files among each other.  A consultant has suggested one of two solutions; a wired, or a wireless solution.  What type of network is most appropriate for her company?  Explain your choice.


(2 marks)

Network choice:  


Reason:  


(c)
Jane needs her employees to print documents.  As she needs to produce high-quality print-outs, Jane can only afford one printer.  How could Jane provide printing facilities for her employees?


(1 mark)

(d)
Jane wants her company to produce short video advertisements using captured digital video.  Other than the transfer rate to a computer, list three technical factors Jane should consider when purchasing digital video cameras for use in her company.


(3 marks)

1.  


2.  


3.  


(e)
List two mechanisms for transferring captured video from a digital video camera to a computer.


(2 marks)

(f)
Jane needs to provide a confidential service in relation to financial business activities.  She is considering using public or private key encryption.  

i.
List two advantages and/or disadvantages of using one of these systems.




(3 marks)
ii.
Jane wants to implement a code-of-conduct to restrict Internet access by her employees.  Discuss three ethical considerations of such a code-of-conduct.

(3 marks)
(g)
Jane realises that her graphic design business may be marketed and enhanced by on-line forms of communication. 

i.
Give two examples of online forms of communications.
(2 marks)

1.  


2.  


ii.
Discuss two major consequences which may affect individuals or companies who frequently use such forms of on-line communications?
(4 marks)

Consequence 1:

Consequence 2:

iii.
Jane and her employees need to be aware of how information technology is used for both educational and entertainment purposes and the gap which exists between some users.  This creates an information rich and information poor society.
Explain what is meant by information rich and information poor.
(1 mark)

Describe one economic and one social impact that the lack of access to information technology has on the ‘information poor’.

(2 marks)

Economic impact:

Social impact:

End of Section Three
Complete Section Four in the separate Production Booklet.
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